HE = 11" - E
1 72 TAB91TH FLILY FEL DY
- - C e $line = s/
2| o8 Bs.16+ $iine = "8/ (S Ty FREF OB D OWBELCT , 185\
elsif ($op eq “Ih”) {p_b(6,18); p_r2i($f2, base($£3)); p_b(16, dpl($f3));print("¥n");} elsif ($op eq “Ih”) {p_b(6,18); p_r2i($f2, base($4); p_b(16, dpl(§3));print("¥n")}
3 80 [®6.165 elsif ($op eq “Ib”) {p_b(6,20); p_r2i($f2, base($3)); p_b(16, dpl($£3));print("¥n");} elsif ($op eq “Ib”) {p_b(6,20); p_r2i($f2, base($£4)); p_b(16, dpl($£3));print("¥n");}
1847~ 2317 elsif ($op eq “sw”) {p_b(6,24); p_r2i($2, base($£3)); p_b(16, dpl($3));print("¥n”);} elsif ($op eq “sw”) {p_b(6,24); p_r2i(§f2, base($£4)); p_b(16, dpl($f3));print("¥n")}
elsif ($op eq “sh”) {p_b(6,26); p_r2i($f2, base($£3)); p_b(16, dpl($£3));print("¥n");} elsif ($op eq “sh”) {p_b(6,26); p_r2i($f2, base($4)); p_b(16, dpl($f3));print(“¥n”);}
6.165 ) . e
4 80 (BEA%p_bd print(substr(sprintf(“%b ”, $num), 32-$digits)); print(substr(sprintf("%b_", $num), 32-$digits)); # 64E YFCPUMD &E=(F, 32->64
6178)
5 81 [X6.165 $addr =" s/ *¥(//; $addr = s/#\(//;
(Bi%kbase) $addr =" s/¥)//; $addr =" s/\)//;
6 81 o $addr =" s/¥(*¥)//: $addr =~ s/\(¥)//;
7 89 (function aIuCiseG)ZﬁE) 5d'1:alu = operand1 — operand2 5d'2:alu = operand1 — operand2
8 90 - b7é§?§) (regl + dpLimm) >>> 2 (regl + dplimm) >> 2
8. 28 A1 ). 01 ine)
9 112 fetch fetch_body (pc[7:0], ins); fetch fetch_body (pc[31:0], ins);
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